G =
SER 2
(%E}%) /j? % 5 Exponenter pa 10

namu: Datum: Poing:
—1x10= 10° =

3% 10° = 2,56+ 10° =
100 = —2x 10* =
10° = 1 x10=
4x10° = 4%x10=
2,46+ 10° = 106 =
—2x10* = 10° =

7,26 x 10° = 4%10=

10° = 5,49 x 10° =
10° = 1,92+ 10° =
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Exponenter pd 10

namn:

~1x10=-10
3 x 10% =300

10° = 1000000

10°> = 100000
4x10° =4

2,46 + 10° = 0.00246
—2 x 10* = —20000
7,26 x 10° = 7.26
10°> = 100000

10° = 1000

Datum:

10° = 1000

2,56+ 10" =2.56

—2 x 10* = —=20000
1x10=10

4% 10 =40

10° = 1000000

10° = 1000

4 % 10 = 40

5,49 x 10° = 5490

1,92+ 10° =0.00192
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